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I 1 mwn: npon and nonw of a bird, inside or outside, vis-a-vis liability for yyna nr5yn
a If-he did np*Yn inside and then nk>yn outside — liable

i

But if: he did np>on outside — exempt for nrOyn

b If he did nvnw inside and then nRYYn outside — exempt

i

But if: he did nvnw outside — liable for nRYwn

¢ Conclusion: the 7wan inside exempts him outside, and the liability outside (repaired from 11w5n) exempts him inside

i

ii

iii

Dissent (¢”): any case where there is liability for doing outside, if he does it inside and then yina nbyn — liable
1 Except: w19 nonw and yina nk>yn — where there is no liability
Question: to what is w" responding?
1 Cannot be: Rv™ —w"1 contending that njp’>n outside should also lead to avn
(a) Reason: if so, wording should be ...02191 5 Parnw 53
2 Cannot be: R9*0 — v™ contending that pyna nv'nw should also be exempt —
(a) Reason: if so, wording would be ...02192 Y9y 1270 prRY 9
3 Rather: must be 89’0 — to say that just as he is 2’n for yin nvnw, should be 2N for w19 NVNY
(a) Block: that was the one exception he mentioned
4 Answer: there is another (hidden) statement of p"n to which he is responding
(a) ’»yrp'n -if nnna no'nw was done at night 02191 — M4 for yina nroYn; if done outside —a»n
(i) ©”rjustas he is liable yin3, so too if the nv'nw was done n%%a n791 - liable for yin NxoYn
(b) 737 p"n —if 07 was received in 9 93 inside — 104 for Yin NRYYN; if received outside YN *va - liable
(i) ©”rjustas heis liable yin3, so too if the 07 was received in 9 93 inside — liable outside
However: version of mwn (9R1mwT Mmar) - v dissents about yina nYym yina pYn (he holds arn)
1 Now: w™ was responding to 8v» and had no exception (different from version in our niwn)

II  'n mwn: nRLVN DT NINN in one or two MV
a  If: the nron D7 was received in one *93

i

If: he put some on the nam inside then some outside — in either case — liable; since all 07 belongs inside

b But if: the nkon 07T was received in two mo1

i
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iii

If: he put both inside — mv9; if he put both outside —2»n
If: he put the first inside, then the other outside — 1108
But if: he put the first outside — 2n; then the 2" (put inside) is 7991

¢ Analogy: if he designated a nxon, it got lost and he designated another and then found the first — both available

i
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If: he slaughtered both inside — 709; both outside — 27n

If: he slaughtered the first inside and the 2" outside — 1108

But if: he slaughtered the first outside and the 24 inside — he is liable for 1t and the 27 is 1931

1  Note: if he slaughtered both inside, even though the second is %108 (92 1199mw nrvN), the 777171 of the first
removes n»'yn-status from both

I Analysis and attribution
a  Putting o7from one b1 outside after putting inside: why should he be liable? This is 0T »7w?

i
ii

Answer: our mwn follows mnm "1 (above, 1 mwn) — offering TN 1w generates liability

Challenge: in 2n clause, we rule that if the first v1> was offered inside, he is exempt if he offers 2" V13 outside
1 But: that is 011 W — should be liable (according to 1)

2 Answer: we include disputant of w”ar1 who holds that one 013 invalidates the other (2" v13 is "n7)

b Analogy: what is the purpose of this analogy? (the ruling is obvious)

i

Answer: this is needed for »a7: only if he designates the replacement while the 1% is lost, but if he ab initio desig-
nates 2 mron (as backup), one is (already) an Ny
1 Per: 17's ruling that an nwx that was designated for grazing that was slaughtered ono is a valid n%w

(a) Challenge: an oW could become an n%y — both are male, but a nkvn is female

(b) Answer: a ®'W1 YV is a male NRYN
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